BID DOCUMENTS

- A) BOSCH CAMERAS AND HARDWARE
- B) WT15022
- C) Thursday, March 18, 2021, 2:00 p.m.

COMPANY NAME:Ojo Technology, Inc				
CONTACT NAME:Angle Wong				
ADDRESS: _103 Hammond Ave. Fremont, CA 94539				
TELEPHONE NUMBER:510-910-3472				
EMAIL:awong@ojotech.com				

BID TO BE SUBMITTED

Item	Part Number	Description	Quantity	Unit Price	Extended Amount
1	VG4-A-9541	(Bosch) Pole mount hardware.	27	\$54.79	\$ 1,479.34
2	VG4-A-PA1	(Bosch) Kit that includes right	27	\$164.38	\$ 4,438.32
		hinged removable pendant arm with			
		a 44-pin DE-44 D-			
		SUB connector, and the back box,			
		that includes a			
		transformer			
		120VAC to			
		24VAC			
		box/power supply, comes packaged			
		as 1 large box			
		with 2 smaller			
		boxes.			
3	NDP-7512-Z30	(Bosch) PTZ	30	\$2,162.13	\$64,863.79
		camera only, egg shaped with			•
		hinged 44-pin DE-			
		44 D-SUB			
		connector, new			
	1	revision, new style			
		IP, inner ptz cam			
		detachable, outer clear poly			
		dome/enclosure.			
4	VG4-A-PSU1	(Bosch) Power	3	\$109.70	\$329.11
		supply unit used			
		for pipe mount			
		configuration. Takes in 120 VAC			
		and outputs 24			
		VAC.			
5	VG4-A-9543	(Bosch) Pipe	3	\$54.79	\$164.37
		mount hardware.			
6	TC-CARRIER	(Ubiquiti)1000 ft	9	\$179.96	\$1,619.65
	(TOUGHCableCARRIER)	Ethernet Cable			
		(CAT-5)			
7		1 ½" Dia. by 2"	3	\$ 12.32	\$36.96
		Length threaded			
8	31-375	pipe nipple	2	\$100.80	\$201,60
•	31-3/3	(IDEAL Aqua Gel) cable and		φ±00,00	\$4U1, 0 U
		Gery cause and			

		wire pulling lubricant (5 gallons)		
Sub-Total			-	\$73,133.16
Sales Tax	9%			\$6,581.98
Freight FOB DESTINATION				\$ 150.00
Grand Total				\$79,865.14

Please note: Substitutes are not permitted.			
The bidder warranties this equipment for a n	ninimum period of ONE years.		
Complete delivery will be made within14_	calendar days from award of bid.		
Ojo Technology, Inc.	103 Hammond Ave. Fremont CA 94539		
FIRM	ADDRESS		
App	President		
SIGNED BY	TITLE OR AGENCY		
3/16/2021	(⁵¹⁰) 910-3472		
DATE	TELEPHONE		
NOTE: Bidders are to mark their sealed bids to clearly indicate the content as:			
A) BOSCH CAMERAS AN	BOSCH CAMERAS AND HARDWARE		
B) WT15022			

IF YOU DO NOT WISH TO BID, PLEASE RETURN YOUR BID IMMEDIATELY STATING REASON.

C)

March 18, 2021

BIDDER'S AGREEMENT

In submitting this bid, as herein described, the bidder agrees that:

- 1. They have carefully examined the specifications and all other provisions of this form and understand the meaning, intent, and requirements of same.
- 2. They have reviewed and understand all clarifications/questions/answers on the City's website at www.stocktonca.gov/pwbid
- 3. They will enter into written contract and furnish the item(s)/service(s) in the time specified in strict conformity with the specifications and conditions contained therein for the price quoted by the bidder on this bid.
- 4. The proposed price is inclusive of all freight and handling charges and includes delivery to the City of Stockton, Municipal Service Center, or if specified, to the alternate point of delivery shown in the specifications.
- 5. They have signed and notarized the attached Non-Collusion Affidavit form whether individual, corporate or partnership. Must be "A Jurat" notarization.

Ojo Technology, Inc.	103 Hammond Ave. Fremont CA 94539
FIRM	ADDRESS
P 7 7	President
SIGNED BY	TITLE OR AGENCY
awong@ojotech.com	

E-MAIL ADDRESS

NOTE: Bids are invalid which are unsigned, or not accompanied by \$0.00 bid deposit or a bidder's bond. If erasures or interlineations appear on your bid form, they must be initialed by the person preparing the bid. Bids shall be mailed or delivered to:

OFFICE OF THE CITY CLERK FIRST FLOOR, CITY HALL 425 NORTH EL DORADO STREET STOCKTON, CALIFORNIA 95202-1997

On or before <u>Thursday, March 18, 2021, 2:00 p.m.</u>, and publicly opened immediately thereafter in the City Council Chambers.

SPECIAL NOTE: U.P.S. OR OTHER SPECIAL HANDLING SERVICES DO NOT DELIVER DIRECTLY TO THE CITY CLERK'S OFFICE. BIDDERS ARE ADVISED THAT IF A SPECIAL HANDLING SERVICE IS USED, BIDS MAY NOT REACH THE CITY CLERK'S OFFICE IN TIME FOR BID OPENING AND WILL BE REJECTED AND RETURNED TO BIDDER.

NON-COLLUSION AFFIDAVIT FOR INDIVIDUAL BIDDER

No. 1	AFFIDAVIT FOR IN	
STATE OF CALIFORNIA,		<u></u>)ss.
County of	(insert))
	(insert)	
firm or corporation to put in a sham bid, or that	such other person, firm or corp	being first duly sworn, deposes and says: That on behalf of any person agreed, directly or indirectly with, or induced or solicited any other bid or person poration shall or should refrain from bidding; and has not in any manner sought by person interested in said improvement, or over any other Bidder.
		(Signature Individual Bidder)
Subscribed and sworn to (or affirmed) before me	e on this day of _	, 20
		is of satisfactory evidence to be the person(s) who appeared before me.
Seal		
Signature		_
		A THOM PURPORT
	DAVIT FOR CORPORA	
STATE OF CALIFORNIA, County of Alameda		
	(!	
they are the President	of OJ	being first duly sworn, deposes and says: That O TECHNOLOGY INC. a corporation,
which corporation is the party making the forego	oing bid, that such bid is genuing	ne and not sham or collusive, or made in the interest or behalf of any person not
named herein; that said Bidder has not colluded,	conspired, connived or agreed	d, directly or indirectly with, or induced or solicited any other bid or person, firm
		on shall or should refrain from bidding; and has not in any manner sought by
collusion to secure to themselves any advantage	over or against the City, or any	y person interested in said improvement, or over any other Bidder.
		Home
	11	(Signature Corporation Bidder)
Subscribed and sworn to (or affirmed) before me	e on this = 15 day of	MARCH . 2021.
by ANGELA WONG	proved to me on the basis	s of satisfactory e пининания напринания peared before me.
	, p	DAPINDER BHAGRATH COMM. #2347594
Seal		NOTARY PUBLIC - CALIFORNIA
Signature Lagrider Begun		My Comm. Exp. Feb. 17, 2025
		TION, OR CO-PARTNERSHIP
STATE OF CALIFORNIA,)ss.
County of		
	(insert)	
each being first duly sworn, depose and say: Tha	t they are a member of the firn	n, association or co-partnership,
designated as		who is the party making the foregoing bid; that the other partner, or partners, ar
in the interest or behalf of any person not named	herein; that said Bidder has no	that such bid is genuine and not sham or collusive, or mad ot colluded, conspired, connived or agreed, directly or indirectly with, or induce
or solicited any other bid or person, firm or con	rporation shall or should refrai	in from proposing; and has not in any manner sought by collusion to secure t
themselves any advantage over or against the Cit	y, or any person interested in s	said improvement, or over any other Bidder.
		(Signature)
		(Signature)
Subscribed and sworn to (or affirmed) before me	on this day of	. 20
by	, proved to me on the basis	s of satisfactory evidence to be the person(s) who appeared before me.
Seal		
Dour		-

Signature _____